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Set Id : 62419 35 BATCH3 D.ELEd. Odia_11NOV2020

Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions(1-5):
Read the passage and answer the questions that follow:

“My dear Mr. Sherlock Holmes,—You really did it very well. You took me in completely. Until after the alarm of fire, |
had not a suspicion. But then, when | found how | had betrayed myself, | began to think. | had been warned against
you months ago. | had been told that, if the King employed an agent, it would certainly be you. And your address had
been given me. Yet, with all this, you made me reveal what you wanted to know. Even after | became suspicious, |
found it hard to think evil of such a dear, kind old clergyman. But, you know, | have been trained as an actress myself.
Male costume is nothing new to me. | often take advantage of the freedom which it gives. | sent John, the coachman,
to watch you, ran upstairs, got into my walking clothes, as | call them, and came down just as you departed. Well, |
followed you to your door, and so made sure that | was really an object of interest to the celebrated Mr. Sherlock
Holmes. Then |, rather imprudently, wished you good-night, and started for the Temple to see my husband."

1) Whom is the note addressed to?

A) The husband
B) The king

C) Holmes

D) An agent

2) Who is the writer of the note?

A) A woman

B) A murderer
C) A clergyman
D) An agent

3) Whom did the writer of the note reveal all the details to?

A) The king
B) Holmes
C) An agent
D) Coachman

4) Whom did the writer go to meet at the temple?

A) The coachman
B) The clergyman
C) The agent
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D) The husband

5) How did the writer know that it was Holmes?

A) By disguising

B) By hiding

C) By being informed
D) By reading

6) Fill in the blank with the correct option:

The police everyone about the traffic jam caused by the elephant but didn't do a thing
A) heard, herd

B) heard, heard

C) herd, herd

D) herd, heard

7) Which of the following alternatives explains the phrasal verb "luxuriate in something"?

A) to take great pleasure in something that is very pleasant and relaxing

B) to take great pleasure in something that is very unpleasant and serious
C) to take sadistic pleasure

D) to have no time for pleasure in life

8) Fill in the blank with correct prefix or suffix:

The engineer wanted his staff to be active to minimise the downtime of his equipment.

A) pro
B) super
C) anti
D) co

9) Which of the following words is correctly spelt?

A) confiskate

B) confiscate

C) confisticate
D) confiscet
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10) The phrase ‘lounge around” means

A) to spend your time doing a lot of work

B) to spend your life busy in doing nothing

C) being restless over a silly matter

D) to spend your time in a relaxed way doing very little
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following bacteria is a common example of bio-weapon for human health?

A) Bacillus subtilis

B) Pseudomonas putida
C) Bacillus anthracis

D) Bacillus thuringiensis

11) ﬁ‘ﬂﬁlﬁi@ FIFNE FQ 69T ARG AYY VIR F6AI-ZIR 9@ AGSER aviead 2es ?

A) 69dnd A9FRY
B) daseiqiniq gfe!
C) 6274 21g1a

D) sdng 2a6Rae

12) The Sino-Indian war caused split in which of the following political party in the year 19647

A) Communist Party of India
B) Congress Party

C) Jan Sangh

D) Socialist Party

12) Gsql- 601 98 © ¢ 9y AdLka FFAde QIREIER 9 AQ cRUG6a Falee 98 *AFQI?

A) 910010 @I @
B) ¥sga am

C) &% e@

D) QeIeQIa1 @f

13) Commitment to structured, purposeful inquiry as the leading vehicle for learning' - is the core philosophy of -

A) ICSE curriculum
B) CBSE curriculum
C) IGCSE curriculum
D) IB curriculum
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13) A"QPR| G768 ORI, AERNIRE QINER AFANE c2a8 J3Q1 ARl R LRSI - 12IR 6268 @ @44 -

A) 2Iad4ga aloign
B) GSagm aloiae
C) 2a@aIqa 9i0ige
D) gied aioiea

14) The recommendations of the Education Commission of 1882 led to the rapid increase in

A) English Colleges
B) High Schools

C) Primary Schools
D) Middle Schools

14) err9e dal zisaIee gaitagsa vdca 26 986 9F AIRYMI

A) oIS RERRER
B) @@ Al [[aTala [al=
C) giifie GMILagee
D) A SUIR0gEe

15) The District Primary Education Programme (DPEP) was managed by?

A) Central Government
B) State Government
C) District Authorities
D) Village Panchayats

15) G8@9 gIRsnal Igeaay 6g1gic| (DPEP) qiel qlal 08eIde 62adR 7
A) 6aE o9l

B) e Qaqie

C) dqy @gas

D) gin °01016
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) Which of the following word CANNOT be formed by using the letters of the word SCIENTIST?

A) CENTRE
B) TEST
C) SENT
D) SIN

16) SCIENTIST sea 260q3q @1eaia 08 SRS 6 Auiq sedd SRIAIR AIRS QI »

A) CENTRE
B) TEST
C) SENT
D) SIN

17) In a certain code language, if the word CHAIN is coded as 51031116, then how will the word TAKEN be coded in
that language?

A) 21311716
B) 22313716
C) 22311716
D) 21313716

17) «@ e calq aisica, a8 CHAIN & 8¢ ome ¢ e 9 Qiesa 6aie, 62108, 6660 TAKEN #af § 6ad aisisa 598 6q10, @8l I 7

A) 5emece9es
B) 99meqoes
C) 99meeoes
D) 9emeqor

18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement |l alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.
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If 2a = 2b — 3c, then what is the value of c?
Lb=a+2

l.a=6

A) 1

B) 2

C)3
D) 4

18) GORNGC gagfece 620 @0 :
e, 06 @99¢l | anain QN se9Iq asaa 26T |

9. @8 @9 || 9gdzl anaia QAR sa9iq asaE 26T |
q. a8 3904 | v || eaag a0 F2IFe 6969 AR AR 6991 Aie Adug 26 |

¥. a6 8904l | v || aeag 1o F2159 6069 © AN VEE! 6991 ale a9y F6¢ |

ad 9a=9b — e, 6069 C A CIIR 6060 ?
lLb=a+>9

Il.a=2

19) In an evening, Mahish and Mohan were talking to each other face to face in an open field. If Mahish's shadow was
exactly to the left of Mohan, then in which direction was Mohan facing?

A) East

B) West
C) North
D) South

19) @6 amiisn AR1E N 6AIRF IR Himl AFIse QAR ATS qﬁla@”egm QR2UIG seadisn | 98 AES 101 6ARAR 0R @k aigea TGN, sosa
£7190 6RQ Gaq APdea 7

A)
B) o4«
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C) aaa
D) @39

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement |l alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

Is the perimeter of triangle PQR greater than 20 units?
|. The length of the side QR is more than the length of the side PR by 10 units.

Il. The area of the triangle is 20 sq.units.

A) 1
B) 2
C)3
D) 4

20) FINYS 9998ase 636 @0q -
¢. 98 9@Qd! | anayia AR s29Iq gcaa AT |

9. 9@ 9@2a¢! |l ¥gfzl anqin QAR ca9ig sae 2T |
7. a8 a4l | uer || eeag 1eI0 S21d9 6058 ANAYR AR 699! AIe ALY 266 |

¥. 9@ 9904 | 9o || aeaq 1e10 52139 c0se @ anie ARE cal Al adug 6% |

gow PQR c gdaimi 90 gRe Qade & 7

l. QR age an PR ada an 0iq o gie 28e 26T |
. Gepa caeTR caad 90 94 Q5G|

A) ¢

B) ¢

C) ™
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) According to Paulo Freire which type of interaction is favourable in classroom?

A) Monologic
B) Questioning
C) Dialogic

D) Inquiry

21) Qeshl IIRew UgEIL 69419960 676 JRIOR JI0Qaa S0 2R 621ReN 7

A) 6RIGRIERIFS
B) gq @83
C) xreo 98al

D) agarie @GQ!

22) The flow of information from sender to receiver through a process is referred to as

A) technology

B) information

C) communication
D) transmission

22) 9@ g@al ArNeR 6909w 0Ig 91990 1§ 9448 999 9RiRg QOIAN |

A) 6s6qIeRI@
B) 9ol
C) saisisais
D) Taae

23) What do you mean by agencies of education?

A) A well established institute which propogates the process of education.

B) A group of government and private schools at each levels which involve in educational activities.
C) All those digital platforms which propogate the process of education.

D)

All those organizations or groups which propogate the process of education.
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23) G919 A°Q KL6M 2160 6 I3 ?

A)
B)
C)
D)

@ 9g6de agaie Q12 4319 gaeiq 9919 a1 @RI |

JENR SRR A1 ARRIGT B AR INIFAR IS AA)@ 6AAYER T8I AITIGASR A 2B |
Q0g GaCIA QIeTd QI 918 gaie ISR 9AR QGRS |

Y PGOR &7l 691F1 AT IR JFAIG oIQ AR KA |

24) Which of the following statements indicates the narrow meaning of education?

A)  The student is made to understand that education is a life long process.

B) The student is deliberately‘taught to think’ as predetermined by the educators.
C) Educators believe that education has formative effect on the personality of an individual.
D)

Educators dislike deliberate efforts to develop certain amount of knowledge, skills, attitudes and habits.

24) Gafge nug aed dale eald 2dg gaa ?

A) 2129891 24 60 F9I @ S19eRUal ggal
B) daeaire-a gd AaI06 21061 608 & 818 846 1898'REe aPQ’
C) 38aAke 24Id A0 60 Q430 QI3Q RACR 881 FORYLR JAI RIBEN

D) Faa 0frIgR FI9, 6FIGR, AFIRIQ IT° ARUIA G918 didl dERdIse AREEl JUIdg RI99R 998

25) Which of the following is a large repository of digitised educational content in the country, and also the National

Coordinator for Massive Open Online Courses (MOOCs) for SWAYAM platform of MHRD and also for SWAYAM Prabha
DTH channels offering a bouquet of 11 educational channels in various disciplines?

A) Edukart

B) Byju

C) National Knowledge Commission

D) The Consortium for Educational Communication

25) GqRde AuQ 696F adsa GETIAR cRRESI FRIGE FEARER 19 920 adle, E° \IF N9 2IQ @ @ SWAYAM gead aiel qyida 6ae

AFAIRR 691694 (MOOCs)a FI01a A°6AIFe I9° SWAYAM gel & § 4 o4ieam 64 SIg60 999 € °& SIS SYI6a0 @ 1019
A°6ASR 26T ?

A) aaIe

B) @laq

C) 6a40IR fens 95186

D) & 2a6qI520 Iq Ig6a9dRIn RYIR6RAR]

26) Match the following types of attention with their descriptions.
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1 Sustained Attention,
2 Executive Attention,
3 Divided Attention,

4 Selective Attention

a. Focussing on a specific aspect of experience,
b. concentrating on more than one activity at the same time,
c. attention paid over a period of time,

d. action planning for attention.

A) 1c, 2d, 3b, 4a
B) 1b, 2c, 3a, 4d
C) 1a, 2b, 3c, 4d
D) 1d, 2a, 3d, 4c

26) fgsa GaI0R89 UG 9RIAg 6AFIFRA F€RI 25 679 A7 |
e. QI ag,

9. RIGIGIR1 2R,

qn. IEIFE AR,

. A6RIRE dle

2. BEReR 99 Faa §9 Ad6a IR 699,

W 96 QELe6 9eg A ANFNIT R06R &I 629,

¢, 99 arq adie aie Gz e,

9. AR ala 1Y 6aIRA!

A) 1c, 2d, 3b, 4a
B) 1b, 2¢, 3a, 4d
C) 1a, 2b, 3c, 4d
D) 1d, 2a, 3d, 4c

27) A teacher wants to teach a concept of science through learner centered technique. Which of the following could by
the most appropriate techniques?

A) Audio learning through lecture based instruction
B) Discovery learning through inquiry based practicals
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C) Visual learning through self learning notes
D) Programmed instruction learning through teaching machines

27) 969 zuae daigh 6B 988 A FRIGE 19 G2 Juaeq Q913 | FQAge AU sa9E A0lg QTG 0ad srealde ?

A) agel BR@ Fevia clunes 2de dal

B) sgaer @9 giem Auase uidaia sl
C) 2IQdial ARIFER Q8HIQe a8l

D) FAIQIP 69137 ARIFEH gL FeLeRIal F1

28) The originator of technology based learning through the concepts of Programmed Learning developed in Harvard is

A) Punya Mishra
B) Jean Piaget
C) Jerome Bruner
D) B F Skinner

28) cldideqn Gadie 6019106 TG ARl FRIFER FEERICRIF ZRIGE JaIa a9 62088

A) e Gig

B) @ Gusas
C) 696617 278,
D) & ¥ 4a]

29) Read the following statements and choose the CORRECT option.

(i) The formal kind of education can be scientifically and consistently provided to a large number of children
simultaneously.

(ii) A new concept of distance education known as m-learning is a mode of formal education.
A) (i) is TRUE and (i) is TRUE

B) (i) is TRUE and (ii) is FALSE

C) (i) is FALSE and (ji) is TRUE

D) (i) is FALSE and (ii) is FALSE

29) Q6719 G904 969 09g ¥a° 0] a8 099 9ag!

() Gooee geIen d8l SRIe QAe Ye° FR2a NISSH IRIIRIR 9F °HIe dgq I8 AIRARR|

(ii) 9-RE° QUSER FNGSI 9@ FFIQ Y@ GO 2QUIREI RIS F/IQ 9K Q9 |
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A) (i) 9y 2165 98" (i) A4 26T
B) (i) QoY 266 9e° (i) 2y 269
C) (i) 21904 2165 4e° (i) AN 26E
D) (i) 22y 2168 <e° (i) 294 26T

30) What among the following types of memory help an individual to recall something immediately after it is perceived?

A) Permanent memory
B) Sensory memory
C) Mature memory

D) Long term memory

30) Gsria Aug sad gelee 98 w68 SYaq AF U969 629 U66 §OS FIERAYRISE AITI §68 7

A) 91018

B) dsnaqdia 9@
C) 9dag g8

D) @eRie 48
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Section 5 - Paperll-Odia Language

No. of Questions: 1

31) GQQQ 99 QTR @46 97

A) Q°q@ Qser IR

B) a*q@eoiq gsigsa anall
C) 209°9 aga

D) arqeg 2ge

32) eniRle 2099 9 9968 694 AIg 94986 7

A) 2818
B) ef uig
C) 9.yl
D) @l ug

33) 21l 6RQ6a Gl 6960 QTR FRS ?

A) 9
B) m
C) ¥
D) s

34) ‘Griee’ 9eq SAAGIdcare @ 918 |
A) Geanme

B) alefa)

C) a9

D) agiee

35) 08¢ 40 @0d 06 cRIRAIN?

A) dig+gene
B) ae+goye
C) @oad+uIg+goia:
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D) ae+8e

36) P69V FIQ 6RAT IR QT ER HE Q67

A) @
B) ¢
C)a
D) ¢

37) ‘aioed’ adea ‘@’ gova Aelq de6 QI8 ?
A) ULe

B) @1ga

C) aade

D) uida

38) ‘Gee saql’ udg I8 KA QF F9uda eal

A) a2 saql
B) A a8 ]
C) o= adel

D) % 21gdal

39) ‘ageni ceql’ fa zd qad 9|

A) o9 e5el

B) Q@I aea adel
C) 689 RIS
D) U6%I& 6210 629!

40) FIRNYE I 6266 U@ FIE AP T68QY ?

A) gy
B) a1
C) ag
D) qieqy
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41) ‘2ge’ sea STQIGId6aIe 40 SIg |
A) Q1@

B) 2i@a

C) 678de

D) ARG

42) 36919 ARIQ 6997 R 6QITIQR AR?

A) aeg
B) quig
C) sty
D) crae

43) anws 2deq ‘af’ 9ouage 9edq QI8 |

A) 967@
B) q69&
C) 6uIed
D) Slu@

44) 2Q goLR 66167 — 90I6Q 66169 @ IRIa AUIUQ?

A) 6dI5a @RIQe
B) a@ead aiae
C) 32l Gea

D) 6@ faI0Q

45) ‘aepaq’ 9ea el 9 QI |

A) ad
B) oa
C) sa4
D) @lef
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) If 3 subtracted from twice of a number is equal to 6 subtracted from five times the number, then the number is equal
to

A) 0
B) 1
C)2
D) 3

46) 9§ calE THIR YNGR N F6LT FPRTN 6N, 628 THY SRR AFS FAQ 9 FeaId AT A2 AAIR 24, 6969 6T THIF YL Q2 AR 62

A) 0
B) 1
&2
D) 3

47) ABCD is a cyclic quadrilateral drawn inside a circle with centre O. The sides AD and BC are on either side of the
center O. If ZABD = 40°, then £ACD =

A) 40°

B) 50°

C) 80°

D) 140°

47) ABCD 6968 4e eaee1 egae a2l O ceg 89 9@sa trae s2ied | AD 6 BC, O &ar 39l 9@% 6a 65193 6aic4 akjsa 028 | 9§ 2ABD = 40°
24, 66692£ACD =

A) 40°
B) 50°
C) 80°
D) 140°

48) What is the measure of the longest scale that can accurately measure 4 sides of the field of lengths 1,980m, 1,620m,
1,800m and 2,610m ?

A) 180 m

B) 120 m

C)90m

D)30m
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48) agolg aden eaaa aia &'a aiwl 1,980 dea, 1,620 fea, 1,800 fea ver 2,610 fca cddvdda saaa 4 ke abe a19ea IO #5016 ?

A) 180 dea
B) 120 dew
C) 90 dea
D) 30 dea

49) What is the simple interest earned on % 4,000 invested for 3 years at a rate of interest of 5%?

A) Z 400
B) % 600
C) 700
D) % 800

49) 5% gu siesa 3 od ae T 4,000 G6sa19 calndem N8I AU GR ol 6FEE 529 ?

A) 400
B) Z 600
C) 2700
D) Z 800

50) If the system of linear equations ax + by = ¢ and dx + ey = f (where a, b, ¢, d, e and f are constants) has unique
solution, then

A) ae # bd

B) ad # be

C) ae = bd

D) ad = be

50) 0@ sagige anead ax + by = ¢ wer dx + ey = f (sacioisa a,b,c,d,e 9o f §a celpan) dan @ 2ea IS 23, 6669

A) ae # bd
B) ad # be
C) ae = bd
D) ad = be

51) Two circles of radius 4 cm and 5 cm touch each other externally. EF is a direct common tangent to the circles. What
is the length of EF?

A) V(82) cm
B) v(80) cm
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C) V(41) cm
D) V(40) cm

51) 4 afi ver 5 caf Quaie S4a gaf @ aeaey 99y ad 908 | EF of 9egéea geva arieg 94e sainan, cese EF o an cqco 6267

A) V(82) sad
B) V(80) sad
C) V(41) sad
D) V(40) sad

52) Which is the largest four digit number divisible by all the numbers 12,14 and 15?

A) 8820
B) 8900
C) 9200
D) 9660

52) 12,14 «e 15 aae eoanl QI FIF6 62089 A6 90 AF Aedda cuyl 6aaf ?

A) 8820
B) 8900
C) 9200
D) 9660

53) What is the difference between the simple interests received if two amounts of Z 3,000 and Z 4,000 are invested for
2 years and 3 years respectively at a rate of interest of 10%?

A) 2300
B) Z 400
C) 2 500
D) 2600

53) 0@ ¥ 3,000 9e ¥ 4,000 camsn 2 ed 9o 3 od ail 10% Qv 21060 8576019 @QIQM 6069 93Q fgde 200 Qo AY6R AIdaY 666 689 7

A) %300
B) Z 400
C) 500
D) 2600

54) If the ratio of x:y=3:5, then the value of 8x+3y : 5x+7y is
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A) 29:39
B) 39:50
C) 49:60
D) 59:69

54) a@ agae X:y=3:5 24, 605 8Xx+3y : 5x+7y a ¢la ceQ

A) 29:39
B) 39:50
C) 49:60
D) 59:69

55) Which of the following is false?

A) 0 € {0}
B) 0 {0}
C) {0} c {0}
D) 8 c {0}

55) Safae aug 6aad faul 7

A) 0 € {0}
B) 0 c {0}
C) {0} < {0}
D) @ c {0}

56) If x*2 + (1/x*2) = 6, then the value of x*4 + (1/x"4) is

A) 14
B) 16
€)a2
D) 34

56) a@ x"2 + (1/x"2) = 6 249, 6062 X" + (1/x"4)a IR 6208

A) 14
B) 16
€)32
D) 34
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57) In a triangle AABC, AB =6 cm, AC = 10 cm and BC = 8 cm. If D is the midpoint of BC, then what is the length of the
median AD?

A) V13 cm

B) 2v¥13 cm

C) 3¥13 cm

D) 4¥13 cm

57) 4= geaigea AABC, AB = 6 6ad, AC = 10 safi ve» BC = 8 cafi| @ 95 6@ & nuag 94, 665@ aual AD a an ea66 626 ?

A) V13 cad

B) 2V13 6ad
C) 3V13 sad
D) 4v13 sad

58) For a class decoration, the ratio of the number of red sheets required to that of green sheets required is 4:3. If there
were 20 more red sheets and 12 less green sheets, then the ratio would have been 2:1. What is the total number of

coloured sheets available?
A) 150
B) 154
C) 158
D) 200

58) 4@ 6991 ARARI A6, 2R cRaQl a9 de Ao aa ¢ e 2gae 4: 31 0@ 20 § 28 an 3¢ 9o 12§ oa age A an, se69 agae 2:1
62102191 | 6069 AT QEFie AQFN T 6966 7

A) 150
B) 154
C) 158
D) 200

59) If A, B and C are finite sets, then the number of elements in exactly one of the sets A, Band C =

A) n(A)+nB)+n(C)-2xnANB)-2xnBNC)-2xnANC)+3xnANBNC)
B) n(A)+n(B)+n(C)+2xn(ANB)+2xnBNC)+2xn(ANC)-3xnANBNC)
C) n(A)+n(B)+n(C)+2xnANB)+2xnBNC)+2xnANC)+3 xnANBNC)
D) nA)+nB)+nC)+2xn(ANB)+2xnBNC)+2xn(ANC)-2xn(ANBNC)

59) @ A, B ve C affie 53¢ 24, 6062 A, B 4e* C sa¢ arq 60184956 02I91e @eyl =

A) n(A)+nB)+n(C)-2xn(ANB)-2xnBNC)-2xnANC)+3xnANBNC)
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B) n(A)+n(B)+nC)+2xn(ANB)+2xnBNC)+2xnANC)-3xnANBNC)
C) n(A)+n(B)+n(C)+2xnANB)+2xnBNC)+2xn(ANC)+3xn(ANBNC)
D) n(A)+n(B)+n(C)+2xn(ANB)+2xnBNC)+2xnANC)-2xnANBNC)

60) If x + (1/x) = 13 then the value of x"4 + (1/x"4) is

A) 28,125
B) 28,387
C) 28,779
D) 27,887

60) 2@ x + (1/x) = 13, coee xM + (1/x) a QIR 268

A) 28,125
B) 28,387
C) 28,779
D) 27,887
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) The Earth's atmosphere is divided into layers like troposphere, the stratosphere, the mesosphere and the
thermosphere based on its

A) Energy

B) Temperature
C) Pressure

D) Weight

61) 921 e0sa dda @8 QAR QIgRER geaIdue, e6adus, 6reaidua Y& dsAidue 0 gasa §99 cRImald
A) 65
B) elofigl

C) gl9
D) 89%

62) Which among the following options is a layer that absorbs most of the Earth's ultraviolet radiation?

A) Crust

B) Mantle

C) Ozone

D) Mesosphere

62) FINYE FRLYER MUY 690G 690F 19 IR AIT YY1Q AYKIY FAIRTEN FQR] AEIITE [6R7?
A) 9e]

B) aigieg

C) ssaiq

D) sei6Qi3aQ

63) Who is known as the architect of the Constitution of India?

A) Dr Rajendra Prasad
B) Dr. B. R. Ambedkar
C) VV Giri

D) Dr. S Radhakrishnan
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63) elesa Afuee 998 QPR @9 REIFI ?

64) The Great Bath is a famous ancient structure found at which of the following Indus Valley sites?

A) Universal Soul
B) Dholavira

C) Mohenjodaro
D) Kalibangan

64) 214 JIAIFIA 6208 Y@ gAF 91618 907 A9l FIRYe 969 AU FIQ 674 AIRg FReIN?

A) 9eg g8
B) suimi@al
C) squsacmiaieal
D) e@Qigre

65) Itai-Itai health hazard in Japan was caused by the toxicity of?

A) Cadmium
B) Chromium
C) Zinc

D) Arsenic

65) PiKIFea ACIR-A6R AYIRFE FaQ IRl TG IR STIGARI

A) fedeq
B) saifies

C) ae

D) asdae

66) About 300 million years ago Earth had only one massive super continent . Select the name of this super continent
among the following options.

A) Panthalassa

B) Pangaea

C) Gondwana
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D) Laurasia

66) Qiet 300 FYE Q8 6@ YY16R 6aan 69T 92Q ARIERH gal | FORYe FeegPe NEa T 99Q ATIETIR FIf SR @ag |

A) airaQl
B) aica
C) sqlgaiq)
D) aasadal

67) 33% seats in India are reserved for women in which of the following given options?

A) State Assemblies
B) Rajya Sabha

C) Cabinet

D) Local Self Bodies

67) iaesa MM% e F6gs AU 6R6dsa AERIARE diel afe ?

A) 984 GIRARIGER
B) alaaal
C) udsas
D) gf1a goreide g

68) In which year did the Constituent Assembly form the Drafting Committee of the Indian Constitution?

A) 29th August 1947
B) 29th August 1950
C) 30th August 1950
D) 29th August 1949

68) aleeia didiea raee AF6a F08 caa @d QMG A8l QR ?

A) ¢ UG e YD
B) s¢ ag@ eigo
C) Mo gUod e ¢go
D) st aQ& ety

69) Which among the following refers to a Land surrounded by Ocean?

A) Arctic
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B) Antarctic
C) Neither Arctic nor Antarctic
D) Both Arctic and Antarctic

69) Fgmde Auq cREE AL TI6! A8 621RNATR U@ 699 JT6 RER 7
A) aIege

B) areiwda

C) 2I9Ga @al areIace gee

D) e0a 21ede ve° arqidde

70) INA had an exclusive women regiment named

A) Razia Sultana
B) Rani of Jhansi
C) Ahilya Bai
D) Rudramma

70) zieaasa L0898 904 A2H 6A5Yae el |

A) 6852 gRGIAI

B) @rra1 @ quén

C) AP Q@

D) gadl

71) Vatsa was one of the powerful kingdoms of Mahajanapadas that emerged during the Vedic age. The modern location
of this kingdom in India is

A) Gaya

B) Banaras
C) Allahabad
D) Bhagalpur

71) @2 (Vatsa) A2I9000Q 2QYE¢ 4849191 QIFY Rl QIFl (GRS JO6R QR 6NN AINSEA T QISR ARG 29DIR £29F |
A) gl

B) eqiaQ

C) aigiQie

D) @iamga
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72) Which of the following options is correctly matched with respect to UN conference on Climate change?

A) COP-25, Katowice

B) COP-24, Bonn

C) COP-23, Barcelona
D) COP-22, Marrakech

72) 9991g 08967 0960 a6 969 aa AFRG1 286 Fhde 99990 MRIQ 6296 AR AINER 601H YIRS 7

A) gea-98, QIESIANY
B) @ed-9%, 69

C) @68-9, edeqia!

D) d6d-99, aiaieed]

73) A writ can be issued to a State Government by the

A) Governor of the State
B) Advocate General

C) Supreme Court

D) President

73) 9% QY deieg 99 eadl NLI9° IRl fuinrasa

A) SI8Y8 QIRIaIR

B) 2Ie60I6a% 6067010
C) 999 eaid

D) Qua.ae

74) For each degree of longitude there will be a time difference of

A) 4 minutes
B) 5 minutes
C) 6 minutes
D) 7 minutes

74) aideie gseie G91 e NEE Q09 aidey a8

A) ¥ f8e
B) & ad¢
C) 24d¢
D) ® ke
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75) In Jallianwala Bagh, many died by jumping into a well, since then the well was known as

A) Martyr's Well
B) Patriotic Well
C) Punjab Well

D) Amritsar Well

75) SIRAILGIN QITER U6RR 6RIR 19 UG 606! FOYPRE FATER, 62690IQ FUT AR FEIgal 26T |

A) 8210 Q2
B) 62809& g2
C) agie g
D) 2qeaa q2
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following organic product is formed when CHzCOONa is treated with soda lime?
A) CHs

B) CH3sCHs

C) CH2=CHz

D) CH=CH

76) CH3COONa saiel aipn 286 94921 aa1deeass F9age 659 aQle AU 6960 98 997

A) CHa

B) CH3CHs
C) CH2=CH.
D) CH=CH

77) Which among the following condition will be suitable for a real gas to behave ideally?

A) High pressure and high temperature
B) Low pressure and low temperature
C) High pressure and low temperature
D) Low pressure and high temperature

77) @9f4e 219gl frIQ 6566 Gan aud OF QIEe JFFaIcael aie QagS 629 7

A) 2F AT e A claael
B) EisRalaR ] d=loRallalalia]
C) 9@ §a e 84 e1aaigl
D) 7¢ €99 49" @8 1aAIg)

78) Which of the following is a scalar quantity?

A) Velocity

B) Speed

C) Force

D) Displacement

78) SARGS MRIQ 6896 @ 2TE QRIS 26T ?
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A) aR6a4
B) exa
C) a@

D) @aige

79) Bacillus thuringiensis is widely used as:

A) Weedicide

B) Insecticide

C) Rodenticide

D) None of the above

79) @idnq YaeTeady 997 QIR YLge 4:

A) Q89

B) @1eRIae

C) salseeiade

D) @96ai9 AkIQ 61638 37

80) In which of the following plants the symmetry of the flower is radial?

A) datura
B) pea

C) gulmohur
D) bean

80) fqnde adagde Aug cRLTER TAR ANYDS! CAEAR 26T 7

A) uQsl
B) ae@

C) dmsaiea
D) 94,

81) Which of the following reactions occur in the cathode during the electrolysis of acidified water?

A) Hz2 + 20H — 2H20 + 2e
B) 2H20 — 02 + 2H* + 4e
C) 2H20 + 2e — Hz + 20H-
D) Oz + 2H* + 4e — 2H20
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81) 2qgs 790 AEAsYNNIT AAGEE MISAFER FeRe JERAIYFR FRIQ 6RUE AT ?

A) Hz + 20H — 2H20 + 2e
B) 2H20 — O2 + 2H" + 4e
C) 2H20 + 2e — H2 + 20H-
D) O2 + 2H* + 4e — 2H20

82) Which of the following statement regarding kinetic theory of gases is TRUE?

A)  Average kinetic energy of gaseous molecules is directly proportional to external pressure
B)  Average kinetic energy of gaseous molecules is directly proportional to the absolute temperature
C)

There exists some attractive forces between the molecules of the gas as collisions are inelastic between them
D) During collisions the molecules either gain or loose energy

82) quae aée 93 Ganca FOAYe AUQ 696E sy ?

A) SN0 29YERR 2IRIR 58 43 1N 610 A20 JIARY BIQUIGR 62IRaI

B) euaa 24qFea 2IRIRIR 967 98 wrgd elanigl a@e duIaRd UIRUIFT 62IRa

C) 9Uda AQYEe FxIEa B8 eiRdena 45 QRS QINE CANIRE FUER IR AF6aTa adaN
D) 9 496 AGIER 93 2R 903 G2l 9IR /68

83) Momentum is a vector quantity and it is the product of its mass and

A) gravity

B) acceleration
C) velocity

D) torque

83) A°6R0 620& IR AF4 ATLNE e° Y2l HRQ LR 6 —--Q QYR AT

A) geaiags
B) aad

C) adeasl

D) o@ @l 21gd

84) The are also called filamentous bacteria.

A) Actinomycetes
B) Mycoplasma
C) Spirochaetes
D) Vibrio
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@ IRIEEPEd P11 C12 QeI |
84) ———— R E b

A) URERIAIREAG
B) AeeaIgg
C) @sekesa

D) dgs

85) Which of the following is NOT a main component of endomembrane system?

A) Plasma membrane

B) Nuclear envelope

C) Endoplasmic reticulum
D) Mitochondria

85) Gqdge nuQ 6R6id Y6aIEAEAR 397 1 QA QTIRIR Q6L 7

A) USI 67620

B) FUR 9PN

C) 168IRIFR cRTYMN
D) aeseiedel

86) The roots of plants grow vertically upwards from the soil for the absorption of oxygen from the atmosphere these
type of roots are called

A) Runners

B) Prop roots

C) Pneumatophores
D) Pulvinus

86) adeqéaa coa FYALRQ URIR AI6AINE sl AIFQ §RA AI9ER 067 9@ | IF gRIee 69eg 19| gRIaN

A) apd
B) 94 qeQ
C) RYAI6aIsariod

D) gm@iaq

87) What will be the ease of liqguefaction of the gases with given van der Waal's constant 'a' values? Given 'a' in (L? atm
mol2): anz = 0.0244, ane = 0.0345, ao2 = 1.378 and achs = 2.283.

A) CH4> 02> He > H:
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B) H2> He >> 02> CH4
C) CH4> Q2> He <H:
D) CH4<0O2>He>H:

87) Guipesl auIe 606 3 & 2AI9e ‘@’ F1Ie ade cuae oo avlde aeeel @4 629 ? (L2 atm mol?) sa ‘a ’ Geiaed : amz
0.0345, a0z = 1.378 9& achse= 2.283

A) CH4> 02> He>H:z
B) H2> He >> Q2> CHa
C) CHs> 02> He <H:
D) CH4 < O2 > He > Hz

88) Which of the following things force CANNOT do on a body?

A) It can change the speed of a body

B) It can change the direction of motion of a body
C) It can change the mass of the body
D) It can change the shape of the body

88) AOAYS UG 69 AR 9 QA6 TI QI ?

A) 921 9gQ 69919 QIRIR AR
B) 92l 4@ @ga 6290 @9g QeRIn A6
C) 991 0gQ 9gRQ forIa 9189
D) 2l 9ga 2IRIe] R97IR AI6e

89) The interbreeding of individuals or stocks that are relatively unrelated called as

A) Consanguinity
B) Inbreeding

C) Exbreeding
D) Out-crossing

89) QuEFEeaa @0l 92 | 9090 SAl QIPIF Z6AVIQYe ARRE QLY CIRIg

A) 298

B) TR gReR
C) geee

D) 9%t oaad

0.0244, ane =
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90) The flattened sac-like elements of Endoplasmic reticulum are

A) plasmasol
B) vesicles
C) cisternae
D) tubules

90) eaIPIFP aFLRe @ 6905 A7 U8 ARNINYFS 6203

A) dedsam
B) sedaq
C) daq

D) €4eaq
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